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Port E receiwves an inferior BPDU, adwvertising root £ instead of root B stored
on the different ports.



awitch B needs to recheck all itz ather non-designated ports. [t sends out a RLO)
tequest for root B on ports AB and D



Port D iz the first to receive and RLO) response from bridge 2 claming to be
the root It i3 a negative response: D has lost connectivity to the root B We
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Hete, & and B receive a RLO) response confinming B oas being the root As
swritch 3 still bas connectivity to the root, we can age out immediately the
BPDU stored on pott E



Port B transitions tolistening withoat waiting for max age. Usud spanning
tree rules then apply to determine whether E and D will eventually go to
blocking of forwarding
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3 1 receive aRLOQ request
forR. T am theroot Rsol
itnediately send a
fespotise. ..

L3

51 recerve a better
BFDT than mine. This
will be my root port.

41 got confirmation ] still have apathto B
oty root port. T can age ot imm ediately
port P oand go to listening I dart then
sending my BPDT onP.

CatOS %! Cisco 10S2 W& 1< F A

FE B2 gy AR L2 HE HE STZ RLQ Y X 3 HFHLIES ALEsHot
2, ME WE AF8E2 UERI S ZE A|x|olM E4stsHok LICLRLQ ugzag é—?lxl
Ofl A W2 fast7} B &SHE Z200F FISHELICHES ZE AQ{RI0IAM WE fast7} EH5HE(X| o
2 72 UE92014 RLQ BT BRI HAE & Jalic 7EHOE HE faste HIE s
Elof gaLict

Catalyst 2900XL Z! 3500XL A X|0MHE SHE HE ST 7+ X|RE|X| f&LICHUE RO 2 AQR|
ZHQlol X|RE|= CHE Catalyst A x| 2|0l 0|24t AQIx|7t ZEHE AL w=ES W= A5}
SloF gL|ch dZd8t EZZ X0l M XL AL %|7t = J7401|H %*EE HHPEHI FEE EF2 XL AL
X7t OFK|2F AQXIO|H & X0 Zo{oBt AAE 7SS &-EstE & UE&LICEXL AR(X|9
Ol Z|EI&{7} Ci|O|X| M@l Ao 2 E[o] QlE AR0= 0] 7|s2 735K OHAAI2.

RSTP = IEEE 802.1wE Al835t0{ BHE 2 W2 H &8 27t gLt H7AHLIE I%’;*Q
2 E?:.*EI H RSTPUM RIS 2 & MSHELICHRSTP == IEEE 802. 1w01| CHEr 7<+A1I<=F LH&
PVST+0{ A Rapid-PVST Migration Configuration ExampIeQE Al EZIE & X o}*'AIO

CatOS 4

Catalyst 4000, 5000 & 6000 A|Z2

—
[
=22 d&stH x[#Hstn “% Eolg

(:at()E;EE éé%%ig}
E ZEOA] uH

C M

Console> (enable) set spantree backbonefast enable

Backbonefast enabled for all VLANs

Console> (enable) show spantree backbonefast

! This command show that the backbonefast feature is enabled. Backbonefast is enabled. Console>
(enable)
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http://www.cisco.com/en/US/products/hw/switches/ps708/products_configuration_example09186a00807b0670.shtml

Console> (enable) show spantree summary

Summary of connected spanning tree ports by vlan
Uplinkfast disabled for bridge.

Backbonefast enabled for bridge.

Vlan Blocking Listening Learning Forwarding STP Active

BackboneFast statistics

! The show spantree summary command displays all backbonefast statistics. —--—-————-—-———————————————
- Number of inferior BPDUs received (all VLANs): 0 Number of RLQ req PDUs received (all VLANS) :
0 Number of RLQ res PDUs received (all VLANs): 0 Number of RLQ req PDUs transmitted (all VLANS) :
0 Number of RLQ res PDUs transmitted (all VLANs): 0 Console> (enable)
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CAT-IOS# configure terminal
CAT-IOS (config)# spanning-tree backbonefast
CAT-IOS (config)# end

CAT-IOS#
HE ST SRR ER| EHelst SHE EAlStE{H ChEE s E LI

CAT-IOS# show spanning-tree backbonefast
BackboneFast is enabled

BackboneFast statistics

Number of transition via backboneFast (all VLANSs)
Number of inferior BPDUs received (all VLANS)
Number of RLQ request PDUs received (all VLANSs)
Number of RLQ response PDUs received (all VLANs)
Number of RLQ request PDUs sent (all VLANs)
Number of RLQ response PDUs sent (all VLANs)
CAT-IOS#
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